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QUESTION 1

It is possible to set an STP-threshold to switch from a shared tree to a shortest path tree. This switch over will be
initiated by 

A. The Rendezvous Point 

B. The Bootstrap Router 

C. A last hop router 

D. The router nearest to the source 

Correct Answer: C 

 

QUESTION 2

How does an IGMP router learns about the existence of hosts in multicast groups 

A. By receiving a response on an IGMP membership query 

B. By looking into the ARP cache 

C. There is no dynamic learning process, instead static FDB entries are used 

D. None of the above 

Correct Answer: A 

 

QUESTION 3

A TCP type ACL that uses the permit-established keyword filters out SYN packets in one direction. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 4

In general IS-IS allows routing of both IP and OSI packets. What type of Implementation does ExtremeWare support? 

A. IP only 

B. OSI only 

C. Dual 
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D. None of the above 

Correct Answer: A 

 

QUESTION 5

What are the advantage/s of using integrated IS-IS as a routing protocol? 

A. Requires only one routing protocol 

B. Few implementation resources are required 

C. Low on utilization of CPU memory and network resources 

D. All of the above 

Correct Answer: D 
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